Chapter 13 Problem II
 (+1)



Name ____________________

7. Write the complete electron configuration for each atom.

a) lithium

b) fluorine

c) rubidium

8. Explain why the actual electron configuration for chromium and copper differ from those assigned using the aufbau diagram.

9. Arrange the following sublevels in order of decreasing energy: 2p, 4s, 3s, 3d, and 3p.


10. Why does one electron in a potassium atom go into the fourth energy level instead of squeezing into the third energy level along with the eight already there?

26. How many electrons are in the highest occupied energy level of these atoms?

a) barium

b) sodium

c) aluminum

d) oxygen

27. What are the three rules that govern the filling of atomic orbitals by electrons?

a)

b)

c)

28. Write electron configurations for the elements that are identified only by these atomic numbers.

a) 15

b) 12

c) 9

d) 18

29. What is meant by 3p3?

31. What is the maximum number of electrons that can go into each of the following sublevels?

a) 2s

b) 3p

c) 4s

d) 3d

e) 4p

f) 5s

g) 4f

h) 5p

32. Write electron configuration for:

a) selenium



b) vanadium

c) nickel

d) calcium

